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WRITTEN COMPETITIVE EXAMINATION FOR RECRUITMENT OF GRADUATE
TEACHERS / BLOCK RESOURCE TEACHER EDUCATORS (BRTE)

UG TRB — 2024 (PHYSICS)

Class: Tamil Medium and English Medium Time Allowed: 3 Hours

Date: 24.12.2023 Test: Medel Test-I Maximum Marks:150

Each question carries four option namely A, B, C and D."Choose the one
correct option and mark in appropriate place in the OMR answer sheet.
ciaunm oSlomallb@b A, B, C wbmb D erédrp mresrg alleml_ser srtiul (i crereor.
Fflwneor aflenL_emw Caibh0&5H S5 OMR allemLgsnefler DigHsneor SiL_5Slev &MOuSl_ajb.

1. Match the following:
S saor_oubmier Fflwns @QuTHSSUUL_(BETeRcHs OCUNIHS 518!
Planet (&lrsib) Escape velogity (e9pu@ SHeme@ausid)

(a) Earth (y,l) - 1. 42 km/s
(b) Mercury(ysedr) - 2. 61 km/s
(c) Jupiter (eMwmpedr) - 3. 618 km/s
(d) Sun(g,flwedr) = 4.11.2 km/s
Codes:
a b c d
A. 1 2 3 4
B. 2 3 4 1
C. 4 1 2 3
D. 3 2 1 4

2. The eguation I = mV' — mV indicates the
[ = my"*=mV eredim &FwedTUN(H 6Tems (HMISBSIMG)
A»Linear momentum
CriCsm’” () 2_bhsb
B. Angular momentum
@asmevor 2_HsID
C. Impulse
& 60015 51855
D. Moment of inertia
Blemevns HabuisSmesr
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3. Calculate the rest energy of an electron in joules and in electron volts. Here rest
mass of the electron value is 9.11 x 10731 kg.
oTousL_meofledt Ui phmomow eg9cuser LHMID oTevsLl onesr  GeumeulLg.60
Ha01685|(H&. BhiE erevéL_Mmeotlesr giiey Hleom wHoy 9.11 x 10731 kg.
A. E=92x10""] and E = 0.61 MeV
B. E=82x10""Jand E = 0.51 MeV
C.E=72x10""]and E = 0.41 MeV
D.E=62x10""]and E = 0.41 MeV

4. According to postulates of special theory of relativity, the velocity of light in
free space is

Aovy smidlwed ©@s&meTemns o1 @snersefleorug, @eubHmMl Hev < cpefllledr Sleme
@ouslomeorg)
A. variable

LMD & 86119 W)
B. constant

Hlemevwneorsy)
C. zero

P
D. infinitely varying

FEMleVIT LDMHMILD EML_WID

5. According to Newton's lawl{of\impact, If u,,u, be the velocities of two bodies

before the impact and 4,2, the velocities after impact, their relative velocity
after impact is
Bl L eoflesr Camgemeot I6NISl0UG., Uy, u, eredug ConeHensE Wodsr GunipL_seiflesr
SleosCausd wHMID /v, v, etedTug Cursems@ Uler Gunmpl_sefler &lema@ousid
orcotleb Gnseds& Ut Sieummlesr Fmiys SleosGeusid

A. V1 77U e(u1 -4 uz)

B. V1 = Vz == —e(u1 =N uZ)
C- Vs Uy = e(u1 + uZ)
D. vi—v, =—e(u; +uy)

6. When a piece of ice is added to water in a cup, the entropy
5 Camiemuuilev 2 eiter Gesorentiflev HHw ey uellés! 1qemw CFidEbEuns:,
G601 616611 GIrm9l
A. is decreased
&ODHSS)
B. is increased

155 f558)
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C. undergoes no change
6TlhS WMMISMID E6L6M6V
D. sometime increases, sometimes not
Hov Crumuserfley SiSlafléSng), Hov Crrmisefley Eevemev

7. Hyperons are particles which are

6OQMDUIUITEOT §)856iT 86T
A. much heavier than a proton
yGom _L_memeot 6l 1518 & 6oTDIEOTEn6!
B. the same mass as a proton
yGum’_L_nedr Hlemmés & &FLoNET606M
C. lighter than protons
yGom’_L_memeor Xl &560(& UTEOTE06Y
D. slightly heavier than protons

yGum’_L_nmemeor L g &eoToneoTemey

8. According to the theory of Yukawa, which of the following particle is exchanged

in a nuclear force field?

waneur Os&meremsliulg YleTa(pb &iH6TaHeiMev..o18 Diebsdh dlema’ yeudslev
uflorbHob @FLWCHUED?
A. Meson
@woeromest
B. Photon
@um’_L_medr
C. Proton
yGmrm’”_L_medr
D. Neutron
Bl ormesT

9. The energy Jiberated by fission of uranium 235 nucleus is approximately equal to

10.

W Creoflwp’235 Sigmieesr 2 1”& GeraymibCungy 151 Geuefliiupégib CaHmmu <, mHmeb

A. 200 keV

B. 200.meV

C. 200 GeV

D. 200 MeV

The nuclear force has a short range, roughly equal to

Signb&(H Nlems  (GHoDOBHEHED &ML g. DiHS (&HODOIB[H &8 S 60
@aHMIMULTEsT D166

A. 10751 m

B. 107 m

C. 10%m
D. 10°'m
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11.

12.

Number of atoms per unit cell of diamond is
coouTHSleor PIoVE O&FMSIL E(He&E e 19 Dig)dsolflesT 616t anfld emeWTeoTg)

2
. 4
. 6

o0 w>

. 8

The half subtractor logic diagram uses output gate for difference

(M Seor sWYIUuNT HisHs aeoruLsSler Coumun@h Oeuef§i 19hHE& " 56
2 uGBunstiu@hSmg)

A. NOR

B. EX-OR

C. AND

D. OR

13. The minimum number of flip-flops required for a decade counter is

14.

15.

6(1H USIGST (YPemm 6T6voTaflemw B&emalIUB SlmE 2 (HeUTHs 6158 6m6oT 6T (-6l (1R
& (D MI&H6IT
A. 3
B. 4
C. 2
D.5
What is the transformer ratiodn step down transformer?
Swihig Wlestombmdlullesr wlssrbrdm 6Sl&Sls50n eT6sT
A. k=0
B. k=1
C. k<1
D. k>1
For a magnetic substance what is the hysteresis loss per unit volume?
sMHsL Glum@pefley revE upLfleL Hwees Sl eTedreoT?
A. in times the area of the I-H loop
I-H setoremflufiesr urtiemu Gumedrmy in LBIE
B. 4 times the area of the I-H loop
I-H sesoremiludiest urtiemu Gunedrmy 4 L ki
C. area of the I-H loop
I-H s evoremflullesr uriiuemey
D. 2 times the area of the I-H loop
I-H sesoremflufiesr urtiemu Gunedrmy 2 L ki
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16. According to theory of interference fringes, the fringe width g is
GmIGEL_[H aNemerelledr uGuumielley, eufl Sisevd B eredTUS)
A. inversely proportional to d
d @ e1dli N&EIBEHSle0 GG D
B. Directly proportional to n
n H& Coi eiSlgsSle ShdE b
C. inversely proportional to 1
1 H& o185l aN&HSEe0 SHdES D
D. directly proportional to d
d b® Coi e85l555l0 SMHEGD
17. The critical temperature in the van der Waal’s equation is
eUNGsoTL_feunmev &Fesrum_tgev wrmyblemev @eutiublemeu

8a
A T, =—

27Rb

a
B. T, P

8b
C. T.=

27Ra

27Rb
D. T, =

8a
18. If the spheres are perfectly elastics the loss in K.E. due to direct impact
between them is

Ganonmbiser (1 (pemwwnest B Hullsy QunpL_ser ereofley, Gmi Gngedlesr Gung:
SieubhNHEHleoL G ahuBd Swds mHmev Sy
A. One (s6esTmy)

B. ~1(w; —u)(1 —p?)
C. Zero (&)
D, Mama(ui—uz)®
2(my+mg)
19. in class A Amplifier the output remains in which region?

Class Al@upésluilev Gleuafluih eThsl UGSl SHsEGb?
A.Cut-off region

@ari”_(HU UGS
B. ‘Active region

@sweoun’_[HU UGS
C. Saturation region

Qs _1qw UGS
D. Between cutoff and saturation region

@au’_(h wHmIb OFHI" 19w UGS EE SooLullev
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20. Application of reverse bias to a PN diode
PN emLGwimg ev Slesr@eomds @& amiy ©&snh @& Gung
A. increases the potential barrier
WlesTeor (58 Simesor iSls e @G 0h
B. lowers the potential barrier
DISTEOTEMNSHS DTDOT (&DDEIDS)
C. decreases the majority carrier current
@u(pbuneirenw &L & WlerGem_L b &emnSms
D. decreases the minority carrier current
muneiremw &GS WlesTGeomm”_L1b &Heom&EIms)
21. Fusion reactions can take place only at
SIg0)b&(HF C&iidemns ov L [HGw Hlaepb.
A. low temperature
sMbhs Geuiublemev
B. high temperature
2 wii @eutiublemev
C. very high temperature
fls 2 wi Geutublemev
D. medium temperature
BH&ST Ceutiublemev
22. A device that accounts individual“particles but cannot measure their energy is
56015 5 60fl 818618 6meI 6T600T60T (L SI6OTM 6oL SIGUHMIGT pHMmEmev &ewrdhSIL
Swoeuns &(HeY
A. G.M. counter
G.M erevor 6wofl
B. moving coil galvanometer
SWihiG & (HEMGTELEITCOTLONGOT
C. spectrometer
bimwremevinmeotl
D. Potentiometer
wWledr6o1(1p S SLomeot]
23xWhen three capacitors 2uF, 3 uF and 6 uF are connected in parallel, what is their
effective capacitance?
2uF,3 uF wmmib 6 uF e165Tm ewedTm) leTCsH & S&H6T S emamnuns &6memrdaelIuL_L M6V,
SiauhMlesT OIGTE&UUWEST leTE@Sd(E&HSIM6sT 6T65T60T?
A. 11 uF
B. 8 uF
C. 3 ur
D. 1uF
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24. what is the purpose of using high resistance in the potentiometer circuit?
Wledreor(1p& BLoneofl WlesTaHMleL 2 Wi WlesTHemL LWESTU(H & SIS HETCOT SMTEITD 6T6OTCOT ?
A. reduce the internal resistance of the accumulator
OleoTB&dH HovsHSIT 2 6iT LDHTSH ML 6m (&M E
B. increase the internal resistance of the accumulator
WlesT@&F0&H HovdSleor 2 _6ir WlesTHomL_omw DiSlsflse
C. safeguard the galvanometer
sneveumeort BL_L_emrl ungI&nsa
D. safeguard the Potentiometer
lesTeoT (S HLomeoflemwis UNgIsTe &
25. Asynchronous counters are commonly called as
60055k 6T6ooT6ull 6T60T e &H&UIUH SlE
A. Shift registers
Quuwiie uSley
B. Ripple counters
&Hmemev 616or 6ol
C. Parallel counters
&65)600T 676007 6001
D. Serial counters
@&LIT 6T600T6wofl
26. The expression for energy of rotating molecule is
&LOOID eLPeVEFa MIGST HMEYIEBT6T E&HMTemEUNEOTS)
A. % lw?
B. I w?
C. %Iza)
D.lw

27. guantum number determines the energy level of the electron in an
atom

GOUNGTL b 6T600T (H Digmeilev eTevdL_neofledr PHmev WL L H6ms

SiioneofleSme).
A._Magnetic

L:Y1113Y:))
B. Magnetic spin

&MbHS &ilD6V
C. Orbital

& HmIVUTEnNs
D. Principle

(P & 60T 6DLD
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28.To observe Zeeman effect, the source of light should be placed in a
FeiT 6llemomemey sieoor 661t L oLLDITETE) 6TThIG M6udE&EUIUL. Geauesor (b
A. Weak magnetic field
aueSlemwwihHm &MbGULeuID
B. Strong magnetic field
6165l6mIDILITGOT &HMih&UILj6VID
C. Strong electric field
al6Slemipiumeot LHleoTL6VID
D. Weak electric field
aueSlemwwihm blesrjevid
29. The principle of LASER is
GoveflesT 55g16uD
A. Spontaneous emission
&H65T Swevuneot 2_HIH6)
B. Stimulated emission
Sresor_Uul_ L 2 1blipey
C. Multiple radiation
ueLEUHEE! BSliTeSEa
D. Reflection
erSl@merfl
30. The product of uncertainties in_determining the position and momentum of
the particle can never smalléx than the order of
6(1H HiseifledT Hlemeuwib wMHMID 2 HsSHems SiwreiliuSley erbu(pb
swun(p sefledt GUBHES96T S0 THEUMTIRGID ULY&(E (&DDOUNSTG).
A. h/Ar
B. h/2n
C. h
D. h?
31. Fibre losses measured in
oefl Bovp Suy Serelltiu@p eug)
A. decibels/km
OL_&lueveio/&l. 1B _Lif
B. decibels/metre

©\L_&lueveiv/BL_L i
C. volt/metre
Geumeor”_/BL_ LI
D. decibels
O@L_&lusveiv
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32. When a current flows through a conductor, its temperature
sLSS5WNeT eudlwuns WlestGeom_Lib umyb Gumg sLGSlullesr @eutiublemeu
A. increases
2 w(Hb
B. decreases
(&ODILD
C. remains the same
LMD &(H& S
D. may increase or decrease
(&HEODWOVMD Dicvovs 1&sIfléeeumd
33. The law of equipartition of energy was postulated by
Sphmemev uHMIL FwubkiSL [ eSSlemw 6@ d sl
A. Maxwell
orderoblevey
B. Boltzmann
BurmevL”_sro©ID6ST
C. Stefan
6ioLe - LIGOT
D. Wien
@euuSleor
34. The work done per unit volumeninstretching the wire is equal to
Il Di6VE BooTdiemalaTen &blleow B 1966 (1) s vweTuR HSULEHD Ceuemoev
15HM(& FLOMGOTS) ?
A. stress x strain
soos6] X SHifly
B. % stress x stkrain

% 5050 X Gifly
C. stress/ strain
Som&0)| / Sifly
D. strain/ stress
Sifly / somsoy
35. Two parallel wires carrying currents in the same direction attract each
other because of
Someonuns 2_erer Sresor(® sbllserflev 6Gr SHlemaullev Wlesr@eomm” L b
@&cLIDBUTG D166 GRGTENM GRGOT M FFT& G LD. o blcoreotley
A. potential difference between them
Sicmousafledr SomL B 2 _oiter WlesTeor(psdHs WwTmiun(y
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B. mutual inductance between them

Siemousafledr oo Gw 2_eirer uflwmbmy WledTGHTesorL_cv
C. electric forces between them

Siemeuseifleor SomL_Guw 2_eiterr WledTaloma
D. magnetic forces between them

Siemeusolfledr SemL_Bw 2_eirerr &Mbhs 6Slemnd

36. What is the excess of pressure inside a soap bubble of radius R and,surface
tension g ?
R &b uriiy uellems o-ayb @sner. Gamiy @ Wldleoier SHd@&0n 2 ull
DI(PSHHD 6T65T6oT?
40

R
B. ng
C. pz%a

40
D. :F

37. In a Transistor a« = 0.9 what is the value of g ?
igomesrleoL_flev a = 0.9 ereotlev B 6SledT &I, 6T6GF6HT ?
A. 0.9
B. 1
C.9
D. 90
38. Raman effect is similar to which effect?
Srmoest allemeneay, 61hs cllémencmoy 5Sl(HeHEMDG?
A. Tyndall Effect
19 65TL_IT6L 6XilemeITe)
B. Photoelectric effect
opoifldledr 6Slenioney)
C. Compton effect
&MDL_65T 6560616
D. Polarisation effect
ot oflemerey
39. A Quantum state is defined by a set of four quantum numbers (n, [, m;, and my).
for_1s? state, the relevant quantum numbers are
&(H (&H6UIT60OTL_LD Hlemev, HITEOT (& (&HO6UIT600TL_LD 6T 600T 8>61TIT6V
eueomuUMIsHIUBSDE (1, [, m;, HOID my) 1s? Hlemevéds@ M &6UNTEGOTL D 6T650T &6iT
1,0,0, %3

1,1,0, %=
2

1,0,1,+2
2

1

D.111,+-
2

0w p
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40. As the wavelength of X-rays is smaller than that of visible light, the
velocity of X-rays in vacuum is
X- &Slisefledr Semovihemd &sHcoramym 6flller  SiemoviheTsHems  &HM_L1g.eID
Goomans SpUusncv, @eubilslev X- sSlisefler Slena@eusid
A. greater than the velocity of light
coflufler SlemeBoussomsd &M _1gepid &b
B. less than the velocity of light
ovefllletr HlemaBousmsdomsd &M _Lg.oIb (&OD6)
C. infinity
wgeSleuns g
D. same as the velocity of light
ooflflesT SHlemeGoussSlihE&d &wid
41. What is the susceptibility of diamagnetic material?
eoL Wi &MbhsL Gunpefledt arbysbSimesr wing)?
A. Low negative value
&oomeuneot eTHlii &0y
B. High negative value
2 wif erHli wHloy
C. High Positive value
2 wi @i wsHliy
D. Low positive value
&oomeuneot Gmii &Y
42. Compressibility of a body™is
(1 QuNpefledT DiEP&HEGHS &6OTEmD
A. reciprocal ofi bulkymodulus
U@BLS GHEHSIDE aTHli &S0
B. reciprocal®of-modulus of rigidity
Sledmil|d GowisES5DE oTdli ailSlsid
C.product of bulk modulus and Young’s modulus
Ug@bLo Hmib Wikl Gemorshisefledr CUHeGHS OHTemns
P.product of Young’s modulus s and rigidity modulus
wrkl wHnIb eSlemmiLs Geoshiselfledr CuIHdhE&S C\FTems
43. M.K.S. unit of surface tension is
urty Swellemaulilesr M.K.S. Sievs

A. newton/m?
B. newton.m ?sec™?
C. newton/m
D. newton.m
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44. When the current is 1 ampere, what is the force per unit length between
two parallel conductors?

WlesT@eomm”_Lib 1  <JbOlwi eteoflev &ap Sovewid &GS Sl B wIVE
fBergSlev @&FweLUBD Nlems 6redreor?

A. 4x 1077 N/m

B. 4r x 1077 N/m

C. 2x 107 N/m

D. 27 x10"7 N/m

45. The colour of light is transmitted by chromium atom in Ruby laser.is
el Govaiflev (&@rmbdlwd gy vl cpefléeSHiflesr euesoreoomigseiT
A.ultraviolet and green
Um2er ST WHMID UFemsF
B. ultraviolet and yellow
Um2er ST DMHMID LDEH 6T
C.green and yellow
Usem& LMHMID LDEHEF6IT
D.red and blue
oy wHmIb et T
46. The pressure of neon gas in the He;Ne laser is of Hg.
aneSlwib- Hlwnesr Gevaflev Hlwnedr eumyellesr uTETE 1RSI
A. 0.1 mm
B. 0.01 mm
C. 1 mm
D. 0.001 mm
47. Electrical intengity at'a point due to a charge of strength q coulomb at a
distance r is
g se.opid WlesiGeom L & 5169 mibg I B @gmemevellev 2 erer yerefludlesr lesr G&mley
A. Lo Nye

4TEQT

B. 2L N/

4TrEgT >

6. L N/C

4TEY T

D. —— N/C

4Tr€y T2
48. N- type semiconductor as a whole is
N- euems Hoom &GS (P (RoUGILNES
A. electrically neutral
BB Hlemevs HedTemd 2 6oL WE)
B. negatively charged
o185l WlesT@oom’_L b 2 6oL wg)
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C. positively charged
Gwmii WlesT@eomm”_L b 2 6oL wg)
D. more positive charge and less negative charge
i$ls Crii WlesTGeomm”_L (b GHoomibhsd o1l WlesTGeom_L (b 2 6oL wg)
49. What is the Ripple factor of a full-wave rectifier?
W (R Siemov Sl(IhSSHS6ST &HMbmeneyv 6T1680T 6T65T6oT?
A. 1.21
B. 0.8
C. 0.48
D. 2
50. When the Bond length is decreased, the bond energy
Slemeooriy fBembd &oemmésuuL_Lmev, UYlemeoriy SpHme
A. remains constant
DTG
B. increases
AL E 0
C. decreases
&oODILD
D. may increase or decrease
5 HHHGSD Dcvovg) (&cOmUid
51. What is the function of carbon=12 in carbon-nitrogen cycle?
SMiuctT—6mbL_TeeesT & h&HuflensmiucsT-12 o1 Beauemev er6dT60T?
A. Auto- catalyst
5651 6Slemeonyy &l
B. Catalyst
oNemeonyy, & &l
C. Auto- oxidant
56T, 26 er0le Beorb M
D. Oxidant
1,8 6n51e2@oori )
52. What’happens to the mass of electron as its velocity approaches the
velocity of light?
(U oerovdL_nneotledr SlemsBeausid oflllesr SlemeBausdoms OBHRIGD GUTIRS!
16T Hlemmullev erbHu@Bd WMHMID 6TE5TETEUM(GD ?

o0 wp
g8 N+~ O
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53. Elliptical Orbit for an electron was proposed by
eTovdL_IedT fHeir eul”_L Liumemsuilev GEev&Eling) ereor ©\5fleNs s et
A. Neils Bohr
fHeveiv Gumi
B. Rutherford
eSS -Gumi(hp
C. Pauli
@uored
D. Sommerfeld
gmof ~G6u(h
54. Antimony and Bismuth are preferred in a thermocouple. Why
@eutiu Wlesteofir”_emL_ullev <6119 60Tl HMID Glevwd CsiirhEIs[HE s L SHledTmeoT.
6r6or?
A. Thermo e.m.f is «
@eudiu WlesTeotlwé @ 6Slem& oo
B. Thermo e.m.f is small
@eauiu WlesTeollws @ 6Slens &ommey
C. Thermoelectric current is large
@eutiu WlesT@eomm”_L b SiFlsId
D. Thermo e.m.f is large
@euliu WlesTeollwd @ elloms il
55. For a given material, if theyyoung's modulus is 2.4 times its rigidity
modulus, what is its Poissen’s ratio?
6(p @unpefledr wikiGaorsh GT 6Slemmiysd GHoorademsl Gumev 2.4 L ki
ereoflev, DiG6oT uMiiFTeotledr &&6)| 6T65T6oT?
A. 1.2
B. 0.2
C. 0.4
D.0
56. If SHM.equation y = 6sin(2nt + g) what is the period of oscillation?
Vo= 6 sin(2mt + g) oradrm Fflemeuilwussesd(SHM) Fwestun 1q6b Siemeve GobIb
6T6OT60T ?
A. 4 sec
B. 5 sec

C. 2.5 sec
D. 1 sec
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57. A Carnot Engine operates between 627°C and 27°C its efficiency is
6(p smicom’ SwibSlimb 627°C whmib 27°C euiubleneusEhéE SemLCw
@&WeLUL LML DiGedT S & Slmedt

A. 90%
B. 60%
C. 66.6%
D. 50%

58. With sound waves one cannot observe the phenomenon of
60691 Semovsafley, HaT SlpdsoTL Hespelemnerd &I (LY WNE).
A. refraction

Slem&ailevascn
B. diffraction
elefliby elevasev
C. interference
GD&EG
D. polarization
Sormellemerre)

59. A transformer is employed to

6(15 WledromhH Mdlulledr (W& & Geuemevwiteors)
A. convert a.c. into d.c

wrmSlene WlestGeomm”_L_&6ms @il lesrGeomi’_L 1omé & 6us)
B. convert d.c. into a.c

Gmii WlesTGeomm” L& &-LoniSlome OleoT@eonT_L Lomés (&g
C. obtain a suitable a.cy voltage

gsflwneor a.c. Wlesteor(WPpH 5D ( Voltage ) sapsHov
D. obtain a suitabled.c. voltage

sflwneor d.C.\DlesTeoT(pH 5D (Voltage) sapsev

60. Which onevof the following is correct sequence?

S seoi_aubmier Fflwneor euflemaiiug Sieowihs COSMIiT 618 ?
A. Bracket, Paschen, Balmer, Lyman
Qlrméses1”_, UMe1965T, UM6LIDIT, 606ULDEST
B, Paschen, Bracket, Lyman, Balmer
UMeX565T, SITT&E&L"_, 6MmEVLDEST, UMEVLLDIT
C. Lyman, Bracket, Balmer. Paschen
6m6uLD6oT, ITMT&EL"_, UM6LILDIT, UM6)$65T
D. Bracket, Balmer, Paschen, Lyman

Glrmésas1”_, umeLIDIT, UIM6Y$60T, 606VLDET
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61

62.

63

64

. Zeeman effect is a

Fweir ellemenedihaneoT §55I6uD 6T65TUS)
A. magnetic phenomenon
&SMbS &&GHIeUD
B. electro-optic phenomenon
blest 6p6ifl &5 gi6uD
C. magneto-optical phenomenon
&MHs o6lfl &5 gleubd
D. none of these
SeoubhmieT ergia|blevemev
When d.c. current (I) is passed through an inductance (L) the'energy stored is
L wsliyeorw dlesrhlemevwndSleor eudwnd (i) eredrm @mii (Wledr@eom” L b Gl&evepid
Ours CsdldsslLEDL phHmey
A. ysowid
B. LI
C. > LI?
D.

12
21

. How does the terminal velocity depend-on radius of a spherical body (r) falling

in a viscous liquid?
un&lweb uetorleiter SlreudSlev I 6TETM) SLT (WP DLW 2_(H60oT 6oL 69l(ROUT(RS! (PLq 6
Geusid (Terminal velocity ) eremséd emibhg SHéH@ESW0 ?
A. Proportional to r
r —&@& Chici&lsHSlen &mHéE D
B. Proportional to7s?
r 1 —&@ Chic&HgsHSlch SHéEGh
C. Proportional to-r3
r3 —8@&\ChieNHssHH6v S(MHd @b
D. Propertional to r?
72 =& CriclSlssHev S @b

.An a semiconductor, the forbidden gap between the valence band and the

canduction band is of the order

R(H (GHODELSHS5UGr SeretTSHInesT UL mL&GD SLHGID Ul oL &GS S G
2 _oitem &(hHHUUT_L SemLGleueflullesr Sierey

A. 1 MeV

B. 0.1 MeV

C.1eVv

D.5eV
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65. Diatomic gas molecule has
FFTG0) UMY eYpevdda M@ OUN(HSHSNeTens &l (B8 :
A. all five degrees of freedom-three corresponding to translatory motion and
two corresponding to rotatory motion
Semeois g 2bgHID Hlifconub O&naoTLcmel. Someauselfley ewerm GriGsm(h
BWweHS S HeNeg) WhHm Sreor(Hb &hHn SwWessSHeETeorg).
B. three degrees of freedom corresponding to translatory motion
ewedormy) Hlifeoonud CriGesm” (f SwaHsSHlhancorg)
C. two degrees of freedom
&nesor(h Hlifeoonubd L (B
D. two degrees of freedom corresponding to rotatory motion
Sresor(h Hlifeoonud &Hm SwessSheTeog)
66. The thermocouple is based on the principle of
Oau ST _oL SP&&ETL. C&TETem&UIH6T g UIURLIUTGS O\&T6oTL 8.
A. Seebeck effect
FOs ellemerrey
B. Thomson effect
SMb&FST 6lemerre)
C. Peltier effect
@ueviq Wi 6SlemerTey)
D. Joule effect
23960 6)ilemorey
67. The capacitance of a parallel plate capacitor is given by
Oleor@s & &lulledr DTCH &GS SHlmest

A kgoA
T od

B, o4
d

C. EoAd
2

D. g,And
68. In a,charged capacitor, the energy is stored in
Wledr arHmUlumHD lesT@&H&HENL HpHmev BH& Sl emendaliuheusg) 61hiE ?
Al the field between the plates
58 [BH&OHdHSlemL_UuL_L lestyeus Slev
B. the positive charges
@i WleT& & 6ifleL
C. the negative charges
er&lii Wledraeminseiflen
D. none of these.
SaDHMIET 615I6]OlcLemev
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69. X-ray photon has an energy of 3.3 x 1071¢]. Its frequency per second would be
X-&8i Gum_Lmesr pbmev 3.3 X 1071° e396b Jp@D. Gedr difiey eredor ®RH

oNleorig &&
A. 5x 107
B. 5x 10718
C. 6.8 x 1010
D. 2x 10712
70. Which of the following is an amorphous solid?
S &H&MeooTUD MICT 678 ULg &WMHMm OUNIHET ?
A. Glass
& 600T GOOTITLG.
B. Rubber
Srouf
C. Plastic
Slenmeiolq &
D. All of these
E606) HM6OTSGID

71.Two free parallel wires carrying currentsin the opposite directions
Sresor(h Semeonuneot &blserfleb 61SliF Blemeullev Wlesrammib umiibg ©\&TesoTLq (IHd(GWD

Gung
A. attract each other
6Q6OTEMM 6R65T M) HEUTSIMG)
B. repel each other
RoTomm @6iTM SEES SIS
C. do not affect each other
66T 66T MNUISINILG E360606V
D. get rotated
&H SO

72. The internal energy of a gram molecule of an ideal gas depends on
R(HSIFMD eYpovdse M Govl Fw eumyeSlesr Dis R Mmev &elpeiTemeud mIeT &mifhaHIeTeTs).

A., pressure only
(PSS WL (KD
B. volume only
@&neTerere) WL (HLb
C. temperature only
@eudiub 1" (Hb
D. both pressure and temperature
SI(PHSD HMID Geutiub
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73.

74.

75.

76.

A particle of mass in has momentum p its kinetic energy will be

615 Gunapefledr Hlemm M DissoemL W 2 [HBID P 6T60T 6L, DNGHETEOL W SWIhIG PHMEL
A. mp

B. p?m

c. 2

=

3R

2

D. 2
2m
A satellite is orbiting round the earth in a circular orbit. It moves with
yleowé &b mMleupd Q&FWHe0s&GasmeT &(Hd &b ? &D6aI(HeucsTeND MI6T6THs & 65TemLo
2 6oL WML &IHd & LD:
A. constant speed
blemeuviuneor Geussid
B. constant acceleration
Hlemevwineot (p([H &8O
C. constant angular momentum
Hlemevwineor Gsmesor 2 _[Hsb
D. constant angular velocity
blemeuviuneor Gameor Geussid

Find the zero correction in the given figure:
@anH&sUU_L uLGSlev &S Sl HHsEH608 &6tor([H g &S&a|b:

2 (cm)

1
lllll lllllll
Vernier

FO 5 10] Scale

main
scale

O W >

e |
o ¢
NN
3
3

D. 0.5mm

If temperature of semiconductor is increased, what happens to its resistance?
(B &M &L GSlemiw QeuutuB S&Ib QuTRs &&65T 16T S emL WITETE)
A. Inereases
AL
B. Decreases
(&HODILD
C. Remains constant
DTS
D. increases to a certain limit of a temperature
(5 GOV @eutublemev eueor i&siflé @b
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77.This equation is known as F = —nAZ—Z
F = —nAZ—Z 6T6OTM FLOESTUML_Lg 66T OluwIf
A. Newton's law of viscous flow
Bl L eflesr un@blemev Sws s a9l
B. Kepler's law
@a&Uermilesr &)
C. First law of thermodynamics
@eutiu SwdseSlwedlesT (P&Hev NS
D. Second law of thermodynamics
ey SwéseSlweSlesr Srevor_mb 6915
78. A magnetic field may be used to deflect
sMbhsLovd, UlTa(peueTobMmIGT 6IHmT DGHT UTcosWIeOl(BHg 6dlevds
vwesTu(H Simgy ?
A. Alpha, beta and gamma fays
Spooun, S, smon &Sliisseir
B. Alpha and beta rays
S eour HmID L sSliser
C. alpha and gamma rays
Sp60UN WHMID SO &S &e6i
D. beta and gama rays
SL_Lrm wHoib smon S&li&er
79. The base current in a transistoris.0.01 mA as emitter current is 1 mA. Its value
of a 4. is
oo 1qnmesTHevLflesr Bugeumts lest@eom™ b  0.01 mMA eretug 2 WIpOUT6sT
WlesT@eomm”_L1b 1 MA erediuems GUTMIS &S eTeoflev, ay. - 661 SIOY
A. 0.01
B. 10
C. 0.99

D. 2000
80. Energy of a _particle moving at 5 m/sec is 125 joules. What is its mass?
5 B/69 Bous s Hlev @&svend 6p(H @um(poifledT HmMeL 125 23960 & D. i
@urporfledr eTemL 6T6T60T?
A. 5kg
B 10 kg
€. 2.5kg
D. 25 kg
81.The de Broglie wavelength corresponding to 54 x 10? volt electron is
54 x 107 GeunevL_ eTevdL”_mnedt wSHILYEGHW 19 Grndefl Diemevihemoneoig)

A. 01764
B. 0.167 A
C. 0.6714A
D. 07614
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82. A positron is a particle with
uN&I”_ImedT 6T65TUS) 6R(H HIHOT Db HIG6T
A. same mass as that of a proton and with a positive charge
yGuom’_Lneoflesr Hlemmuyb Gmir WledT&Hemiou|b G\&TesoTL &)
B. same mass as that of a proton but with a negative charge
yGrm’_L_neoflesr Hlemmuyd e1&li LDl6dT & mow|ib & mesoTL_g)
C. same mass as that of an electron but with no charge
oToudL_nmeofledT Hlemmuyb 1 sdedlwid WledT&emwub ©\&mesoTL &)
D. same mass as that of an electron but with positive charge
eTovd1_nmeofledT Hlemmuyb G WledTaemwu|b G\&mesoTL &)
83. P of a pressure of gas and its mean kinetic energy E per unit=velume are
related as
6(1H eumyeest SiR&H&55S5 DG (P) (b Heor SiemeSleyienen samail Swibis
BHONSESD (E) 2 6iTer @pm_iiy

A. P=E
B. p=2E
3
C. P=3E
2
D. P=1E

2
84. How many types of Bravais lattices’are possible?

61556060 euensWNeT YoIremeusiy DiewlldhCsmTemaser Siemww eumiiyesor(y ?
A. 12
B. 14
C. 16
D. 18
85. Ultrasonic waves can’be generated by
BOWTeS SI16060&6IT 6T&60TTeL 2_60oTL_MSUIUL. (PLgLb?
A. Piezoeleetric effect
§GBororr 6TeLEL_[flé 6Slemene
B Doppler effect
il 6Slemerrey
G Kerr effect
@& 6llemerey
D. Thomson effect
SMberedr eXilemerey
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86. Zener diode is used as
Yoot L Gwmg 6ot 2 u@wnssib
A. voltage regulator
WOleT SiRHBD FLGTUR &6L
B. rectifier
Diemov Sl(HSE
C. amplifier
Siemev QUIHEE
D. Oscillator
Siemeuulwih
87.The empirical formula for the nuclear radius is

SIED&&(H BISHS|DeTer Cameney

A. R= rOA_?Z
B. R= rOA_?1
C.R= roAé
D.R= r0A§

88. In this following reaction which one is possible?
SscoTLcubmieT ereicileme HemL QOmieng &réSub?
A A >t +p
B.p+p-on+p+n*
C.et+et->ut+u”
D.p+p-p+X ™
89. Which condition is to be satisfied by a normalised wave function?

Swev QFEWWUNUL_L\SIEm6vE EMTUGVGTESET &H6sorL M 2 _Sa|b Hlurhseme wng)?

A. [ W5 ()W, ()dx = 0
B. [WWdxdydz =1
C. [/¥)W; (0)dx = 1
D. [¥¥¥dx dydz =0

90. A rod=l-m long is moving with a velocity 0.6 c. It's length as its appear to a

stationary observer is

op B Li Berqporer Hoor(h oeedim 0.6 ¢ Slovs@oussHsI &1 HETSlGOTDSE.
Hlemeuvwinest 6(H UMTeHEUINEN(HEG DiGI 6TSHGIemeoT Her(pemL WaNes GHmedr mib?

A.1m

B. 2 m

C. 0.36 m
D. 0.8 m
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91. What is the current Sensitivity of moving coil galvanometer?
SWihiG &HOT Dimeve] &M (Kb &reveuret B L fler 2 _ewoniey HI” Ub 6redreor?

92.The rate of loss of heat of a body depends upon
6 Gunapeflesr Geutiu SuiYy 635D Sp&&TL DML 618 6meoTE FMibhSH S ?
A. mass of the body
@unpefledr Hlemm
B. temperature difference between the body and surrotindings
@OUIEREHSGD &HMIUUDSSHISESD SoemLullevneor Gl Hlemev Ceumiun(y
C. colour of the body
@unnperfledr Hlmib
D. specific heat capacity
@euiiu arbysSlmedt
93. For a perfectly elastic collision of restitutien’is
W BL_&% sedremw 2 eirer Gngedtev blemev B & erevoremflesr S0
A. less than one
RcsTemm ML (&HOme)
B. equal to zero
&lwm@ b
C. more than opé
65Temm Il diSlsh
D. equal te.one
Rcordii@ &b
94.1In the absence of external force the velocity of centre of mass is
ymedlema@&wevuL&l(mHé@Gbolungl, Hlemm emwwssler &enaBeusid
ANZero
u,e2edlunb
B. constant
Hlemeuineorg)
C.increases
91518116 &D
D.decreases
&b
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95.To obtain P-type silicon semiconductor, we need to dope pure silicon with
&oevliuL_oleveunr FleSlasnesT &HmmaL G&lemw Yl-euems (P-type) @ eomsLsSHwns wrbm
eTu@UN(Hemer HeSsasnen 65t HevtiuL b @ &w Gevesor (Hib ?
A. aluminium
Sigp)dleoflwid
B. oxygen
b8 6r5le66T
C. phosphorus
umerour 6o
D. germanium
O =ifneoflwib
96. Which one of the following is correctly matched:

8 2 oreraubmlev 618 WlsE sflwnsl QuIhSSIUL_ (B 6Tons (?

A. Positive rays - Goldstein
@i hleora Sliias6ir - @amev(h 6ioLe 66

B. Atomic structure - Chadwick
Sig)INeT Siemioliy - &n’_edlé

C. Photoelectric effect - Niels‘Boh«
ovoifldledr ellemerey - fHeveronGuimi

D. Positron - Hallwachs

ur&I_omedr - AMITELEUTEYS

97. Which of the following is most'suitable for the core of electromagnet?
Wlestambsiiserflev emow 2 dn(peris uwesTUB D GUNIHET 618 ?
A. Air
STH)
B. Soft iron
@wesreofl(piby
C.Steel
Sy
D. CurNi‘alloy
Cu -Ni se 1" (HU@urpeiT
98. Ele€trons are held in the atom by
(15 Jigielev, eTevdL nresTaerflemL Gw sneoriu@Gn edlems
A7 Coulomb forces
8616uIbL1 616 & &6iT
B. nuclear forces
DIE) 58 (H 65160&&H6T
C. gravitational forces
yeSuSiioy eSlem& s eir
D. van der Waal's forces
GUITGOT LIT 6uM6L 691608 &6iT
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99. A capacitor is used in
Slesrau(pld Fa Hmisefley 6Ths ammMleb WleTGH&E LweTU®R HSULEHSIDG) ?.
A. d.c. circuits only
d.c. shmiseflev (Cmi WlesTGeom_L &b miseiflev)
B. a.c. circuits only
a.c. apmisaefley (brpSlemns WlestGeom L &b miseiflev)
C. both a.c. and d.c. circuits
a.c. woHmid d.c. sbmiserfley
D. neitherin a.c. norin d.c. circuits
a.c. woHmud dic. abHmiseT Sicveuns Gp & miserflev.
100. The blue colour of sky is explained by
euneord 16t Hov Hlmsemm 6flend & 6us)
A. refraction
oeifleilovscy
B. reflection
e1Sl@nmerfliy
C. polarisation
&orr a¥lemerre)
D. scattering
&smev
101. Beats can only be heard when _the*difference in two frequencies is less than
8w SiSliey ereorsafler eNsSwngwners S5H@& D SHHsHTLSTET, 69lbL6LE 6T
GasL”_(&b.
A. 30
B. 20
C. 10
D. 50
102. A body in areom cools from 85°C to 80°C in 5 minutes. Then time taken to cool
from 80°C/to%5:C is
oIlf Siemmullev 2_erer Gunper 5 HllL_GSlev 85°C @eutiublemeuulleSpibhg 80°C Geutiu
Hlevewds@sds @GHoflisdsl oL &mg. 80°C 6Smbg 75C @eautublemevds
Goflii&FFlwemL w e1(h 8185 C&TETEHD STeVlD
A. 5 minutes
5 HubdlL1b
B. less than 5 minutes
5 BISILSSH&ID> G
C. more than 5 minutes
5 BldI_§SIhH @ Gev
D. none of these
SabmieT 61816|Wblévemncu
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103. Which of the bindings is weakest in strength?
B &8 6vorL_eummlev HeSlHE Whmev Ll&TesoTL Slemerliy 618 ?
A. van der Waal
GUMGOTL_IT 6MIMT6L
B. Metallic
2_Bouns Slemesoriiy
C. Covalent
&80 Slomeoortiy
D. Ionic
Siweofl Slemeoortiyy
104. Which one of the following is a unit of energy?
S & 8600 UM MIGT 618 HMeSlesT Sierey@smeum@h ?
A. watt
e
B.joule
7960
C. newton
Bl Lo
D. newton/m
[T /1)
105. Which one among the following-isferromagnetic?
S & & eoTL_ b mIeT 618 SHOUETT Shel ClunpoT ?
A. Aluminium
Sigyidleofluid
B. Quartz
& ouNiL_eo
C. Nickel
Hlé&sen
D. Bismuth
Q6oL s
106. In an LCR (a.c. circuit) the current becomes minimum when

SlesrelaeussToum Mloieter 61hs & WHlemeuuliley, LCR wrmlemns blesrGeom L &mmHlev

tBlesTGeomm”_L_1b Flmio wHIemHUD @UMID?
A. X, = X,
B. X, > X,
C. X, <X¢

D. ‘,XLXC =1
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107. When white light travels through vacuum
gngmreoor GleueTemen 6eifl GeubMILG&l6T audl @&vLenbGung
A. different colours have different speeds
@6u6uGoumy Hlmmiser GeauciBGoum CaussHlov &b
B. violet has more speed than red
2eargm Hlpb, Heudy Hnsemseil da(hHov CeausdSlev G&FevepiDd
C. all colours have the same speed
eTevour [HimrkissEH CT Couss e &FcLEYID
D. red has more speed than violet.
oy, 2agremey Nl SiSles CousdSlov Gl&cvepid
108. Polaroids are capable of producing strong beams in
Gumevrmii(h 6T Hp&H& 60T HET& eI 2_(H6uTE &) & STMEOT.
A. plane polarised light
&or 6llemene| 6efl
B. circularly polarised light
oL gor 6flemoney 6eifl
C. elliptically polarised light
Boirau’_L sor allemerey el
D. none of these
Seubmier argidlevemnev
109. Two photons are moving in oppesite directions. Their relative velocity is
8 Cun_Lnesrser erHlii e1Hlii Hlemesefleb masiSHledrment. Sieubmledr &miy SlemasBousid
A. sdlwm&b
B. 0.5C
C. 0.75C
D.C
110. Which of the,following gases possesses maximum root mean square
velocity?
oo, _omybsatlcr  o1hs emy iSlswneor  Gapwlg v CausdHmss
©\&5MevoTLg (IH (S ?
A. Hydrogen
6OOUDL_[TER60T
B. Carbon dioxide
sflwidlevenmy (sMiucsTemL & emer(h)
C. Nitrogen
6OIHL_TER60T
D. Oxygen
b8 6r01e651
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111.

112.

113.

114.

A point charge + q is placed at the mid-point of a cube of side L. The
electric flux emerging from the cube is
ubslb L O&neoL 6p HooT FGITSSIeT mwwddlev cap yerefl Wlerenm’ L b + g
cm6eud &0 UL_(hoTeng). Sibsd HeregITsSledpha Geuefliu@b Wlesr umub
A L

€o

B. —Z

6 LZEO

C. 612
€o
D. 0

Substances which are magnetised in a magnetic field in oppesite direction
are called
sMHSU YoudSlesr erSlisSHlemaulley, GuNpeTsoneors &mbHLISGSEIUBHL S6ieumm)
S &&UUH HmE.
A. diamagnetic
LWim &b &L @UM(HeiT
B. paramagnetic
unom &H&UEUMH6T
C. ferromagnetic
S@UGTT &iH&LIUM(mH 6T
D. non-magnetic
&MH& HOTemWLWMDHMD GUIT(HEIT
For a paramagnetic material, the dependence of the magnetic
susceptibility y on the abselute temperature T is given by
urm sMhGLGUNHefledraBLUs Slmesr ¥ Heofl Geutublemevulley ( T) Sehiounm &(HéGD.
A. yxT
B. x « exp(constant X T)
C. y <
T
D. x =constant
According to Wien's displacement law
allwestev S UEUWITEFS NSlIGug
A. 1,,T = wrHleS
— = mledl
= rmleS)

B.
T

c. T

D. T + 4, = wmmdledl
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115. The first law of thermodynamics is concerned with the conservation of
@aILSWES Swedledr (WH6ev llSlwners &p& e a6 IDTSIIHUUHSU
urb Hlwg!
A. number of molecules
e oevd &a MIseTledT 6T 6or 6ol é 608
B. energy
<PpHM6L
C. number of mole
Buomev-65t 676007 600fl 8 6tV &>
D. temperature
@eutiuiblemev
116. Velocity of sound in air at a given temperature
@an@Hssuu_L Geutublemeuuilev, smbhmleby 6pedSluilesr Geusib
A. increases with increase in pressure
SWRH5D IFlsflE@ED Curws, ASHsflsEsS s
B. decreases with increase in pressure
SWSH5D ASlsflbGb CUTRS, &IOS
C. is independent of the change in pressure
SI(PSHS WIMIUML_Lg 60T OUMMI&HESHOEV6L
D. all are true
£606) HMOTSHGID 260060
117. If A and B be the input then the output Y of an AND gate will be
A, B eredtucor AND gate &smwest 2_oiteit (R &6l oTeoflov &8 gate eor Gleueflui(h Y erehcummy
SHEHGSD?
A. Y= A+B
B. Y=A-B
C. Y=A/B
D. Y=A/B
118. According to de morgan's second theorem A.B =
le (Dnfeesr SresorL_mb GshmeSHleor ug A. B =
A. A.B
B. A+ B
C. A+B

D.A+B
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119. Itis a type of machine in which the frequency of electric field is kept
constant and magnetic field is varied. It is known as
WDlesTyeLS ST ASNTE6U6TET IMMOEYID WTMIUL L SMHSUIL6eVD ©&mesoTL 62(1h
alemsITeoT SWib&SITD

A. linear accelerator
Gmifllwey giser (WW(HES
B. betatron
SC_Lm’_gmedr
C. van de Graff generator
eunedT 1g. Sy 1hledr SwibH
D. synchrotron
&leb1(8 Gorm_mmedr
120. Which material has high elastic limit?
2 wif B &flwev gedrem @&MesorL @UTIHOT 6T8)?
A. Rubber
Tourr
B. Aluminium
Sigp)dleoflwid
C. Quartz
&G ounrL_eo
D. Copper
915 & cmerr

121. Dimension of stress is

Somsedledr ufliomesord
A. MLT™?

B. ML 2T2
C. ML %1
D. ML 1772

122. When'ny = 1.48,n, = 1.46, what is the value of numerical aperture?
np= 1.48,n, = 1.46 erevtlev, e16vor HMUSledT S 6T60TEOT?
0.24

0.10
0.85
0.90

o0 wp
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123. If 1 kg of substance is fully converted into energy, how much energy is
released?

1 &1.8). Hlemmueirer @uUIEBOT (P (REUGHID YRHmeuns wIHOUIVEHSIDS),
@euaflSl_u@Bd HM6L ereliaIeTeY?

A. 9 x 10 Joule

B. 3x 10 Joules

C. 9x 108 Joules

D. 0.9 x 10 Joules

124. Zinc plate will emit photoelectrons when which of the lights falls.on it?
SpscorL_cubmieT 61bhg oolfl uGd Gung Hhus 5&@H ol eTovdL (N & Mo

2 1Hlpb?
A. Visible
SHEOTEDIM) o]
B. Infrared
&558leuty &I
C. Ultraviolet
Umer s SEIF
D. Laser
Govaii

125. What is the change in entropy~ when 10 gram of ice at 0°Cis converted into
water at the same temperature? (L = 80 cal/g)

0°C @eutiu  Hlemevullev 2 airefl0  Slombd uellésl 1g 1685  @euiublemevullev
Sesorerr s Wrmib Gurgrerbu(hlb Swevumbmev DM eredreor? (L = 80 cal/g)

A. 0.03cal/K
B. 2.93cal/K
C. 0.29cal/K
D. Ocal/K

126. What is the particle Y in the given nuclear reaction?
JBe® + LHet 5 (12 4Y
@&rB&H&sUIUL_(HeTor DigiéssHetlemeoniley glser Y eredreor?
4sBe?fSHe* - C2+Y

A. Electron
6T6VEL_[TITGOT
B. positron
umerOI”_redT
C. proton
yGrm_L_medr
D. neutron
Bl ormesr
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127. In a betatron, electron is accelerated by

128.

129.

130.

SC_Lm_gresfléb eTevdL_nmement (W ([H & (&G
A. Static magnetic field
1blemeulumeoT &rh&UILeuID
B. static electric field
blemevwimeot 1HleoTL6LID
C. changing electric field
wrm&ledrm Wledryeuid
D. changing magnetic field
rSlesTm &b UL VD
What is the uncertainty in the momentum of the electren-located in the
diffraction of a beam of electrons?
&hemm eTevdL_mmedrseiflesr aflefliby ellemeraley eTevd”_TMesr 2 _ha&Sleor iHlemevlmemin
6T6OT60T ?
A. Ap = %sin 0
B. Ap = %sin@
C. Ap = %sin 0
D. Ap = /1521}129
At threshold frequency the K.E/ofithe photoelectron is
vwet COBM_&8 iSiTOleuesoremiley ‘eporfl Wl6iT 6TevsL_MeiTsefledr SwoHe W Hmev

6T60TUS)
A. Maximum
@u(mLob
B. Zero
5§
C. Minimtm
o
D., Unity
o960t )
Ifthe error in the measurement of radius is 2%, then the error in the
determination of volume of the sphere will be
o Camons Slest PrdHems Dieradl[hs6dleb Klemp 2% erefleb, DiG6T &HeTDioTEmous
Ho18 5[5 5691651 Slempwineors)
A. 8%
B. 2%
C. 4%
D. 6%
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131. The percentage error is
aNssmn_(Hu Slemw eTeotiu(y eug)
A. g =22x100%

B. & =+x100%
C. & = (As — 64) X 100%
D. & = A; X 64 x 100%
132. The equation of straight line is

@it Csm 19 hesmeor FwedTun(h
A.y=a-bx
B. y=a+bx
C. y=a+ bx + cx?
D. y =a+ bx — cx?

133. In the Hare's apparatus, water rises to a height of 26.5 cm in one limb. If a
liquid rises to a height of 20.4 cm in the other limb, what is the relative
density of the liquid?

Gamiflest &peSluliley, B 6@H el lgev 26.5 @F.D 2 wWISSHHEG 2 WISng. D
Slreud wOM el igev 20.4 EOFD 2 WIsHSHEG 2 wihsre, Sreusddler cUSL (H
SILIT&5 &) 6166T60T?
A.0.8
B.1.1
C.1.2
D.1.3
134.Which of the following'has the highest number of significant figures?
S8 60oTL_ 6D MIGT (DiSe. (&SI 6T600T T0I(IH & 606TE ©C\SToTL &1 6THI?
A. 0.007 m?
B. 2.64 x 10*%kg
C. 010006032 m?
D16.3200J

135. The velocity of a particle v at an instant t is given by v = at + bt*. The
dimensions of b is

t eredTD BT Sleb D GHiBofetr Hloma@ousd v = at + bt* erevfleb b-&edr uflomesond
A. LT

B.LT!
C.LT™?
D.LT3
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136. Which of the following pairs of physical quantities have same dimension?
Bp& e Semeorsolfley 6068 ufloneorsems U mIeTer SWHYIWEH DT &6
A. Force and power
olem& wHmiId Slmedr
B. torque and energy
Slpiyeilens wHmId pHmed
C. torque and power
SlmuyeSlems wHmib Slmesr
D. force and torque
aNem& wHmId Slapuy elSlens
137. Barton's Correction is based on the principle of
umiL_eofledr Sl(H& LD @&eTemaUIN6sT Silq UUuemL_ulleh DiIGOLDMHEIGTETE).
A. Newton’s first law
By’ L6t (psH6b eSSl
B. Newton’s cooling law
Bl L et @ofliey el
C. Boyle's law
um9leb el
D. Joule-Kelvin Effect
2396v—- & 606)60T 69lemeITe))
138. The output voltage for the circuit;
Spssnad Wledr shmlest GeuefuT (i WleTeor(é s WSOy :

200 k2

+9V

Vin
25mVv

A. —100V
B. —0.25V
C0.25T
D. {100V

139. The mass absorption co-efficient (u,,) is
Hleom 2 1” &seu (& 6orsd FesTun(y

p
A pm = "
U
B. uUm= )
C. um= %
x
D. un= u
UG TRB, PG TRB, POLY TRB, ENGG TRB, SCERT TRB, ARTS TRB website: www.arccphysics.in

Kindly Send me your Answer Keys to email id - Padasalai.net@gmail.com



https://www.Padasalai.Net/

www.Padasalai.Net www. Trbtnpsc.Com

AR COACHING CENTRE U6 TRB PHYSICS-2023 Cell:9361561415

35

140. The feedback element in an Op-Amp integrator is a
@sn@&UY Qewbhum”_H CupesSluiler Clsteym” L 2 miiy 6rg?
A. Resistor
Ol 65T 6oL
B. Inductor
OledT&HmedTIq
C. capacitor
OleoT@ 5 &S
D. diode
oL Gwn(y
141. Match the crystal structure in Column A with the corresponding packing
fractions in Column of the table:

@nH euflem&uliley 2 eirer UE SiemwliemnU i L auememrulileor OIbH euflemauiley 2 eirer

@am_iiyemLw Bus &kl YlesTeomh&S O 65T CUTIHSHSD :

Column A Column B
1. Simple cubic P.0.74
2. Hexagonal close-packed Q. 068
3. Body-centered cubic R.0.52

4. Face-centered cubic

F A,
Codes:
A. 1-P, 2-R, 3-Q, 4-Q
B. 1-R, 2-P, 3-R, 4-Q
C. 1-R, 2-P, 3-Q, 4-P
D. 1-P, 2-R, 3-P, 4-Q
142. The crystalline solids do not show:
Uy BHSSlev FTHSIDHD DNFS FlDFEFTEmD6) !
A. 1 - fold symmetry
1- iUy &WHE &8s FL&FTEOWDEY
B. 2 - fold symmetry
2- gy &PHE &8s FLEETOWL
C. 4 - fold symmetry
4- g0y &PHE && FEFTOWL
D. 5 - fold symmetry
5-w1q0Y &PHE D&& F&FTEOWD)
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143. In Linde Process
6Sleoor GL_u9lesT (Y emmUuslen
A. Liquefaction of air
&Snhemm HiFbiomésaeunb
B. Liquefaction of hydrogen
6O _[TeR6emeoT (BHIFbLDME:&6uMb
C. Liquefaction of helium
aNedlwdHems s BbLomeaeumd
D. Liquefaction of oxygen
D& en5l& 6meoTt HITbLDME&6VmD
144. According to the Vander- Waal's Equation, at critical point:
GUMGBOTL_IT — 666 &FLGSTUM Lq 65Tulg , rmyblemeuts yererfluleh

A =0
B. T =1
C.S=o
D. & =05

145. The root mean square velocity of the molecules is

ewovdga misefledr S(piolg ewevd FTnafl &bl S SHlemaGousd eT6sTug)
A ¢ = CtCate+Cy

,c +Cpt-+C
B.c= |[*——=
n

C. C= CE+C2++67
n

D.C= fcf+c§+---+cfl
n

146. An instrument used to measure the solar constant
G Ry wrdleSemw SiereiltuwesTuBb &6
A.%Angstrom's Pyrheliometer
Dprieiol_gmb ©eutius &SlieTs siomneofl
B. Watt meter
Slmedr weofl
C. Intensity meter
@&ley weofl
D. Multi meter
ueLUWGST B L1}
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147. The length of second pendulumat g =98ms~2:
g =9.8ms™? Smés@&b SLHElev @Qbg 2ergedleor Homb :
A.0.25m
B.1m
C.0.99m
D.0.50 m
148. Relation between relative permittivity and magnetic susceptibility of a
medium:
2011855657 UMW 2 I UGSS DT LHMID &MHE abHUSSID6ST
SeoL_Buwneor @&m_iiy:
Aty =1—Xn
B.Xm=1+u
C.u =1+ My,
D.tr =14 Xm

149. Find the miller indices for the plane which intercept @b, ¢ at (3a,3b, 2¢):
ab, ¢ aTEID HoTHoms e (B yerefld@ (32, 3b, 2C) wleveulr &MUST(H&Homond
& 60oTL_MHIue)ID:
A.(332)
B.(2 2 3)
C.(112)
D.(13 2)
150. If y =a+ b, the maximum percentage error in the measurement of y will be:

y = a+ b ereofleb Y, — emiu Siemall(h HoSlev SiSlsul_& aflwpsdesm (B Ylemw:
Aa  Ab
A (22452 X 100%
Aa Ab
(a%b) (a+b)

B.

) x 100%

Aa & Ab
(a+b) (a+b)

(
C. (A“ - Ab—b) x 100%
(

) x 100%
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